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Division

12+2=

O O

o O O

o e o

O O O



/V\ultLpLLca,tLon and division word pmb,bem,s

Sita puts 10 balls in each bag.

How many balls are in the bags altogether?

OO0

A shopkeeper has 20 fish and 5 fish bowls.

He puts the same number of fish in each bowl.

How many fish go in each bowl?



Fractions

%, %, %, % and % of a length, shape, set of objects or quantity.

Shade % of this shape.

What is half of 16cm?
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Froctions

Complete the number sentences.
A shop has 12 bags of crisps.

One is done for you.
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It sells % of the bags.

How many bags of crisps
did the shop sell?
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Shape
Properties (sides. edges. vertices)

Lines of suymmetry
J J J

2D sha,P,Q s 3D sh,a,P,e,s
cubhoid

square |

cy linder

clrcle r?,cta,n,gle cube
cone
tria.nglz |
square hased p,Hra,rn,Ld



Match each shape to the correct description. T

One is done for you.

shape description
triangle has 8 vertices
Tick all the shapes that are faces on this prism.
square has 3 sides
octagon has 4 right angles
circle has no vertices

Draw lines to match the shapes to their names.

Tick the shape that has a line of symmetry.

pentagon

NI

octagon

. .

hexagon




Measurement < > | =
(comPa,ang/m-dang) Less than |Greater than| Equal to

é 200ml 500ml

Q/ capacity (ml/l)

What time is it?

mass ( q / kq )
Draw a rectangle 7em long and 3em wide.

Use a ruler.

length/height (cm/m)




